(3;5/)13’) 103 @B,y - pyet M Ao pe 2y 2 03 pd) pussb o) 2By guse Rgl

- . 2y dbise:d 2012/2011 Zswi 3 Soluged ! D
:hi'J'M‘(O,U,V)ﬁ%ww“ww\})yw‘(P)\_uso.a,;v\_s}:..iv\__; = ~* / AU 0y _— = .
........:" o e e s b S £ ’)?
2,=-2V3 52, =-2+2i ;2,=4 52, =2 : _a$dizD,C;B,A s ) 5 Sl )
T
h _ Sowy CiypwoF S0y~ aasns Aoy sdn T CoynE - S-2 , AR S
5 1:25pts ¥ e 53

Bz s Ass e sl

s e Py Eontan 3 7, 57, i - _9ahoue 331 il

—Sstuzs BEF i i 5 C 3 0dlan syt s 0 w8 BCE ) i o - a=99.9" ) e S0k i 5 i) )l s 3 (2
L UDY) 330 fois
c s M (2 )tiny E e iz (P) e M (2) 28 05 1 0 s F e en -3 33100 e Aok 3 @ i el e A+1=1070 ¢ i gy m
47 +8i
S aidi (1,75@3) SW sy @

(4.0M")+(AM ,EM ) =-Z[27] ; OM'xEM =4.AM
2 . 3 =1[25 3% =05 2
P e dese 06 (P) Lsudn) ssidl J3s om0 o 3% =1[25]: i canm ik Z [5] - i e
[(E;)={M(2)e(P)/z eR | s (E)) = {M(2) (P)/|z]=1 N =322 5y oy o oy e 32 =1[100] - i ¢
- N= Dl ke 5 Doy ged ) i) o ¢ —[ ]-\-)'usz—(3
(s;iﬁﬁ'):M u ( 3;§/aﬁ'):02 @By ezl
JUR+JC:\§)JJ$;UVJJ‘F\’)£3 &
(VXER J. " 2 .Gz{(x,y)eRzlxz—yzio}:A;}A;»M e
—dt s F
(Vt>0)l t<et<l: i<l (2D)x(xy) = (ax+by,ay+bx) : g G s (X,y) s (8,0) 5
h GBSy s x i

3% 51[4] L orepary |

._£2<__t N T
(thO),t 2t <l-e St\)VCM««ﬂ-‘-’ (G\_)A(a,b)ﬁmﬁﬁuoa&w)@JUEﬁ)(Gv*) \-J'JS—(Z

", 3 ‘
&my@@)JMjw)giﬁc(VXeR );—XSF(X)—IHZSZXZ—X:Q)@hc ~(G,*)\~_)Al§;q-5)»)H\;)’i;;g<H={(X,y)e]R2/X2—y2:1}:t;as-(S
k) Boned) e Fanoy Xy
-t -t _ _ e i
.(Vte[X,ZX]);O eT<e—r<_)3;x_~g‘X>O\-):g_i_<2 AE_{M(X,)’)—(y X]/(X.Y)EH}. el i —(4
X
X -2x P . NN H
- lim F( ) L0 | @ (VXER )0 F(X)Se —¢ Pl ] o '(MIZ(R)’X)“;M;’?E‘J”@_‘
N , e _g* X Sus B M(X,y)isialy H - (Xay)@)fh.)a\é“’hémm‘ BT
.(VX€R+);F(X)= L s RY _ge Suan s F i oy -i-3

L . X (E,X)}A(H,*)\_)A\;ﬁw
‘(O"’J)WJMWM‘S(CF)ﬁ’ el ¢ PR s o o LB e M(X,Y) 28 sias 057 o ptie 00 @ o( B, %) 2y el




dgle e @

:0193‘)\'):“)&:31 |

LW lak s 0de 9P o  N=P0 st NeN S @
: %Z_{a} el aed S0l
ae(pZ)U(qZ):;)S»b)w;\bj%z\g)wwﬁ\uﬂagjwi
‘(E):X2—3X+2=0:;UO\:J.M%SZ\JJZJ"Z%SZ\'S&M\M\}:QJQ@—(Z
0208y - szt W

o

“ho1yx
dim 1, =0 io-d

N—+w

P sk &l (Un)neN*;‘:JU‘l‘ LY i @ (Vk eN*); I+, =

03 @by - ezt W
i Aw [0l _pesanawfineNoS o
. (Vx = [0;1]); f.(x)= .[:emzdt —_fxle’mzdt
0] dd1 e i Rogs 20 Dl el
(3e, efoa]):f e dt=[ e dt - i
- Gy o0l agd 0 ~(3
R pte i gl @ ¢ (€ ), Ly Al A5 00 —4

. lim emdt—+oo: ~\i;,»_\3‘]0;1]JL§:>\~_)A>)¢;;r\~_)@—i—(5

N—+o0

(), A A el ¢ (VneN);J'C1 At <1 i oo

.‘14.}4-:}"\-5_.9:&:9&3\)){)9:3) 80 5o 3 palatd) - yuoed Bl Akl oy @

(6;5pﬁ'):05 @iy el W

(Ojﬁfj‘):dﬁn peapec
f e R _peianw f oo e
.(VXGR);f(x)zfﬂxe’xz -1
.\fu&\m)bhcspsgjimof(x) ;Jirllf(x):;nqwswi-(l
. fu\MJ)uq-c.b;JL(VXER);fI(X)=3(1—2X2)e_X2 C ol o2
.&umz%haodo;(Cf)\;-amﬁzsyjo%—(S
X =00 52%) 05 it s (T) ebedl D0t 8T -4
(O, 1) it 5 otaza pian 3 (C ) _gmits 5 (T) otods i <5

Y=Ly X=N+15 X=N: ez 5 (C )on ssadl 5 ios S sNEN S0 -6

‘(Sn)neN@uﬁ“‘ AP el @ NENJO NN S, e 5o

(3;5/11‘5'): Wieyk) @

i aw R _esaawfineN —{I} o5 e
(vxeR*); f,(x)=3x"e™ -1

L (Foo o W e f D100 i sua e -

O<u, <1:us Voo U od) osle RY 305 (B, ) f(X) =0 20wl i on -2

N
-V 2)

e s Mas (V) 3sl) g i (3
.(un)nzzigu:.lszgujcaugps‘ fra(Uy)=u, =1 i -i-@4
Rl b 1008 B ye (U, , Akl ol o o
PN R™ e 2,0 Do g, - K9-G5
(vXeR*+);gn(x)=—x2+In3+n|nx
(VX eR™) f,(X) =0 g, (X)=0: ion i

dimu, =1 o by e -0

N—+w

gl 9




